New Maths GCSE: N8 - Operations with Surds

Correct Answer: ABCD
”{F\w ﬁlﬂ i _ Explanation:
g7 | s
Correct Answer: ABCD
5\/3+7\/3 - Explanation:
A) 3543 B) 193 |
C) 12‘\/6 D) 105 ..........................................................................
Correct Answer: ABCD
Simplify fl.l”y Explanation:
2f10 X 4.[10 ..........................................................................
a) 6J10 C) 8100 | s
b) 8J'10 d) 80 ..........................................................................
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Simplify the following: \/E .|.. \/4_8
A) V60 B 6V6

C) 6\/§ D) can’t simplify

Work out the value of:

(V3 +V27)?

[ Y g 3o

@ V30 g 738

3 g _
V3 V3

Which of the answers below is correct?

g 53 5 | 5V3
R |
V15 5v3
s B 7

V20 + V45 =

a. V65
b. V900
c. 6V5
d. 5V5
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



Correct Answer: ABCD
Explanation:
SIMPIIfYy V75 = V27 ettt

A:m B:@ ..........................................................................

C: 4\/§ D: 2\/§ ..........................................................................

Correct Answer: ABCD

(3 + \”‘3) (2 - \:“'3) = Explanation:

(A) 1

(B) 4 +4y3

(C) 4-4\3

D) 7 B

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD

Explanation:

a=1++2 and b=1-+/2.

Which one the fﬂ“ﬂ“'il’lg numbers is irrational? [ 00 tUtUUUUUrrIrrrrsirisinisrnisrnrrnrrnrrrirrEniraEsisissinrseias

(A)  a+b HE e e ras
B)Y ab B

(C) (([+h)2 ..........................................................................

D a-b = W s
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Correct Answer: ABCD

3+, b=43-1 Explanation:
Which of the following numbers are rational?

(A) a+b

D) (a+b)
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